cos t=5/V74
sint=7/\V74

npumep 1

1*cos X + 1*sinx =[BbIHOCUTb HY>XHO V(172+172)=V2] =

=V2(cos x*1/V2 + sinx*1/V2)=

=V2(cos x*sinP/4 + sinx*cosP/4)=V2sin(x+P/4)

npumep 2

1*sinX - COSX=[BbIHOCUTb HY>XHO V(172+(-1)"2)=V2] =

V2( sinx*1/V2-cos x*1/V2)=V2( sinx*cosP/4-cos x*sinP/4)=V2sin(x-P/4)

npumep 3

1*sinx - V3cosx=[BbIHOCUTb HY>XHO V(142+(-V3)"2)=2]=

=2(sinx*Y2-cosx*V3/2 )=2(sinx*cos P/3-cosx*sin P/3)=2(sin(x-P/3))

npumep 4

V3*sinx + 1*cosx=[V(142+(-V3)"2)=2]=2(V3/2 *sinx+’2" cos x)=

=2(cos P/6 *sinx+sin P/6 * cosx)=2(sin(x+P/6))

npumep 5

5*sinx + 7*cosx=[V(5"2+7"2)=V74]=VT74(sin x *5/\V74 + cos x * 7T/NV74)=

V74(sin x *cost + cos x * sint)=V74*sin(x+t)=V74*sin(x+arcsin(7/\V74))

*sinx+b*cos x= [a*sinx / +b*cos x /

= [cost*sinx+sint*cos x]= sin(x+t)
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arcsin(7/\V74) = arccos(5/V74)



